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15 8 6-1
o, BEAXOES = AILONMAET 5.

(1) cos(a+P), sin(a+B) &R L. 5 3
(2) A=oa+B, B=90°DEA =Mz ABC (2T,

BC:CA:AB 4
Z e b T HL 72 B AR Tk L
3) D=a-B, E=90° DEA =4 DEF (23, 13
EF:FD:DE
Z e b T HL 72 B AR Tk B
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15 i 6-2
—A ABC 128\,
cosAzé, cosB=—3
4 16

Thb.
(1) sind, sin BOEZRD X.
(2) sinC DfEZERD L.
(3) BC:CA:AB Z it f#fi Hl7p H RS Tked L.

T 6-3
AB=7,BC=8 CA=9D=AF ABC "% 5.
(1) cosC, sinC &K x.
(2) =f ABC OFMAIIZIE =fAJE DBC #4i< & &, AD DR X %R L.
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HIEOVR2AK, TTNRSADOL URSS. 0L UEEELICIATHB|X, B\ U

IRV EDETH. LD THIEY S LESIKETIZH WS LOAEEX LT 5.
1) wOEZEHR I L.

e

@) X OWFHEZ KD K.

T 6-5
AR L.
(€)) MWD O L 4D X%, XFELENHY &bk Hic, —HIcHRD HEORE
@ T HBOHAND 4 S A TTEBMMAO S b, 1 I &% A L
Wb D DR

15 i 6-6

KD 2 RAEXEFT.
1) x*-x-6>0
2) 2x*-4x+1<0
B -x*<2x



